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1. Introduction to Ratio;
1. It means relationship between any two amounts from Final Accounts.

( Trading, P&L and Balance sheet)
2. It is important technique used to analyse the trading , P&L and Balance Sheet.
3. It is widely used by banker's, brokers, investors,workers creditors etc.

4. Ratios can be expressed in 3 ways

a. % form (50%)
b. Rate form (10 times)
c. Pure form (1:2)

' 5. Ratios are calculated to compare

a. current year performance with last year.
b. company's performance with that of competitor.
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1. Current Ratio / Bankers Ratio / working capital Ratio .
Current Asset . 1
Current Liabilities '
$dandard RAHO : R/
@oHANg ¢gpPHaY
/’ credy tor ¢h R - 1600
\ Invenforres - W P: voco
Cosh Rm fa : 3000
4 ) +1ab +op Yeblor: 1000
Debtor wrp Cosh: 000
s¢p . For +lab +onp e cramitor S0O
Ad rn vwe 9800
Portreurars A .2} c
b 190,000 1100 70,000
CL 160,000 160,000 100,000
CR:(Chicy) l.q | NN oY :/
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2. Quick Ratio / Acid Test Ratio / Liquid Ratio

Quick Assets
Current Liabilities

3fandard  Ratis = 1%)
Quick Asset: Current Assets - stock - prepaid Advance
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(4Q)Deb1'or's Turnover Ratio \

Credi
redit Sales . Hroes

Average Receivables
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From the following ratios and information

Question 4. (Illustration 4)
From the following ratios and information given below, PREPARE Trading Account, Profit and
| Loss Account and Balance Sheet of Aebece Company:

¢~ Fixed Assets % 40,00,000
| |Closing Stock % 4,00,000
Stock turnover ratio 10
,/ Gross profit ratio 25 percent
ot Net profit ratio 20 percent
«|Net profit to capital 1/5
| Capital to total liabilities 1/2
| Fixed assets to capital 5/4
« | Fixed assets/Total current assets SIT
Solution:

| (@N=): Capria)

Freed hssey _ B
caprtal 4
4oo0000 ., 8
Capriod 4
coprtoy- YOOO000 XY | ¥, 3306,000
5

| (tOM-): Totq) Current Adses

Frxed Rijet . 5
Totow Current Assed 7
40,00,000 - 5
Torod Current A3de) 7
T Totow corrent Ad3ep = 40,000,000 X7 ¥ 5600,000

L)

Cop1ra !

':

“Tora) Lrabfirtres <
300,000 !

-

Tota) Lrobrirtres R
. teta) Lrobriitres = 3300,000%2 . § £4,00,000
|
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(eonN~Yy) 2 Ner Profi+:

Nep Profry |
Caprio 5
Ner Proft | |
3300000 5
= Ner Profit= 3300000 X', € 640,000

5

on-8) Sares:
Ney Profit x1og = <0

0104
SQree
Ldones s 640,000 xtoo = € 32,00,000
<6
(oN-g): (OGS
fares 106 306,000
- CFFOJQ Pro F’.’. °?9 ? S’C0,000
COCrs ¢ ? {900,000

(toN-1) . Average dtock
$tock Turoover . _COOS
Ratro Average $tock
10 = L 4,006,000
Ryeroge 3focK

o Arerage Stock > R4:00:000 . TR40,000
16

:L(,QA['%}: OQED['DQ Stock

Averoge . opening srock + Closrng 3totk
dfock 2
340,000 = OPeNINg $tock + 40000
2

- Opening Stock = ({40000 x2) ~ 460,000 T 23,000
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Current Assers (wWn-2)
Lresrng 3rotk

400,00

Trading Account
Partrcurars v Portrecarors ¢ |
_To Opening 410Ck (WN-8) | 86,000 By 3ales (wn-5) 32,00,000 |
.~ To Purchose 27,2600 |
10 Grross Profrt (wWN-6) | 8OO By (losing 3tock 400,000 |
36,00.000 3600000
Proftt & LOSS Account
Partrcutory v — Portrecarors ¢ |
- To Operatng expenses  { I6CO0C | By Gross Profis 800,000
~To N} ProNY (WN-4) 640000
800,000 g00,000
Balonce Sheet
Equity & Lrabiiitres . v Ad3et ¢ |
capreeu (LON-1) 32eo0,000 | Frxed Assed 40,00,000
Lobr/reres  (WON-3) 64,00,000

other currend hss (500009 §600,000

9600,000

600,000
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X Co. has made plans for the next

| Question 3. (Illustration 3) .
X Co. has made plans for the next year. It is estimated that the company will employ total assets

| of ¥ 8,00,000; 50 per cent of the assets being financed by borrowed capital at an interest cost |
—of 8 per cent per year. The direct costs for the year are estimated at ¥ 4,80,000 and all other |
| _operating expenses are estimated at ¥ 80,000. The goods will be sold to customers at 150 per |
cent of the direct costs. Tax rate is assumed to be 50 per cent.

| You are required to CALCULATE: (i) Operating profit margin (before tax); (ii) net profit margin

| (after tax); (iii) return on assets (on operating profit after tax); (iv) asset turnover and (v) return

|- on owners’ equity.

Solution:

L (LON) - Income 3rarement:

Partreariors Aroou 0t
dares (HROO00 x 1S0%) 7,20,000
-~ DIreck Cost (4,80,000)
Gross Profit R #0,000
- Operatrng Erpenies ( 8e000) |
EBTT L60PCO  (Operarng Profit before Tox) |
- Interest[ (800000 xS0%) x 8% ] (3R000) (NON-0perar ng Expenses)
EBT 198000
~Tax ® SO~ (64000)
EAT 64,000 ( NetProfyt fter Tax)
N-Q) * raH’ Bt :
EBIT 160,006 (Operarng Profi+ before Tax)
- Tax_® S0 (86,000)

20,000 (operarng Profit Afer Tax)

1. operatrng profit . EBIT o 160000 .\ hy o 22:24 Y,
morgin (Before Tow) jales OO0

4. NerProfit morgin . _ERT w00 64000 v 0o . R.RQ

(Q Met Toux) Jales 790,006

3. Rgfurn on Totcy Asder - Opefabing profrt AR TBX .44
( operoting Proht Tota) Assers
Aftec 109 = L0009 Ooimom o7,
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-

N
4. R3sep Turnover - _3als . TRO000 _ p.g +rmes
RaH®B Rsset 800,000
5. Rerurnon owners . _ERT _ x)po = 84000 <100 = 6%
eQ Wty owoners eg sty (R00,000 X 807,
EX4rqg:
Toted As3eds . ROO,O00
C . L
O Sox
Borrowed funds Owoners Equitey
LyOO,mO l{O0,00Q)
4
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Question 14. ( PP9)

Following information relates to Temer Ltd.:

N

Following information relates to Temer Ltd

Debtors Velocity

Creditors Velocity

Stock Turnover Ratio

Gross Profit Ratio

Bills Receivables

Bills Payables

Gross Profit

Fixed Assets turnover Ratio

3 months
2 months
1.5

25%

% 25,000
10,000
3 4,00,000
4

Closing stock of the period is ¥ 10,000 above the opening stock.

DETERMINE:
(i)
(ii)
(iii)
(iv)

(v)

Sundry Debtors
Sundry Creditors
Closing Stock
Fixed Assets

Solution:

1) Jdoles & COMS:
5Qr1es
- (1033 Profi4

100
{S

Sales and cost of goods sold

velouty means  Credr+ perrod

2 1600000
400,000

CoGs TS

) Suodry Debrors:
@) Account -
reces\rable

D DebtOrs =

)

n

AceOunt recervoble -~ Brig
400,000 - SO0O
€ 378000

? 100000

credd Perrod
1Q

1BOOAC0 % % - € 4,006,000

cred it ¢
dares

Recervable
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WD dundry Credrrors :

a) Averoge 3toc:

dtoce TUrNOYer Cocrs

Raho Ryeroge 3tock

lef . _ 100,000
Ryeroge stock
* Ryeroge stocc = IRCOO00 | § 200000
[+S

b) opening & C104rng ftock:

le4's  Qgdsume opening Sfock = 2
(1081ng  3tOCK = 2 + 10,000

Average .  Opening + Clasrng
Stock Q
RCO,O0C0 = Rt & +16,000
Q
(0B,000 X Q) -10,000 = 2X
1590,000 = 2x
® = 735000
- opening Stock = 798000
C10s1Ng Sfock = 733000 + 10,000 = §0SOOO0

¢) credit Pyrchqae
opening + PurchQses- Crosrng = COs
798000 + Purchases ~ 205000 * 1300.000
. Purchase = 12,160,000

d) Account Payaore: _
credn Purchase x credi+ Perrod
12

12,10,000% 3 . ¥ 30166Y
12
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N
@) credrtors:
Account Pavable - Bris Payable
= V01667-106,000
= 191667

V) CIe31nQ 3f0Ck= ¥ 0SSO0
9

Y) fixed A !
Bxed Asser = 3aes
Turnover RoNO FIxed Asjes
600, OO0
Frxed Assed
s Fixed Asser = 1600,000

= § 400,000 |
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Question 7. ( PP1)
| The total sales (all credit) of a firm are ¥ 6,40,000. It has a gross profit margin of 15 per cent and |
-a current ratio of 2.5. The firm’s current liabilities are ¥ 96,000; inventories ¥ 48,000 and cash T
|.16,000.

(a) DETERMINE the average inventory to be carried by the firm, if an inventory
| turnover of 5 times is expected? (Assume 360 days a year).

' (b) DETERMINE the average collection period if the opening balance of debtors is
intended to be of ¥ 80,0007 (Assume 360 days a year).

Solution:

- @ Averoge Inyentory:

1) Cocrs:
dares Ico 640,000
~GY0338 Profrt 5 ? 96000
oy ¥5  ? 44000

17) Averoge Tovenisry:

toce = elv
5 - S44000

Ryeroge 3otk

Average stock = F4yoco - Y 10 FRO0
5

b Average C(enection Peryod:
1 current+ Asseps:
current A4ser
current Lobrirtres

LLryrrent Adsel = .S x 96000 = Y NO000 .

2y

M Coding Debhors
corrent Rssers 40,000
~ Inventorres (4g000)
_ cash (16000 )

176000
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N

i) Ayerage bebtors:
opening + (fo3rng
2
0000 + Te0ow
2

= ¥ [IROOO

1) dehtors Turnover ROH'O:
50104

fvRroge 0Oebfors
690,000

1 2000

= § +rmes

£

Y) Average (orteckion Perrod:
_360 . 73 days
[y
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The following accounting information and

Question 8. ( PP3)
| The following accounting information and financial ratios of PQR Ltd. relates to the year ended |
"31st March, 2023:

HI Accounting Information:

Gross Profit 15% of Sales| |
Net profit 8% of sales

Raw materials consumed 20% of works cost| |
Direct wages 10% of works cost| |
Stock of raw materials 3 months’ usage| |
Stock of finished goods 6% of works cost| |
Debt collection period 60 days

(ALL sales are on credit)

HII Financial Ratios:

Fixed assets to sales 1:3
Fixed assets to Current assets 13 2
Current ratio 28
Long-term loans to Current liabilities 2.z dl
Share Capital to Reserves and Surplus 1:4

| If value of Fixed Assets as on 31st March, 2022 amounted to T 26 lakhs, PREPARE a summarised |
Profit and Loss Account of the company for the year ended 31st March, 2023 and also the
Balance Sheet as on 31st March, 2023.

| Solution:
| (LON) - 3Q¢res -

freed Rided |
3ales 3

1600000 L I

dares 3
< 3105 = 6C00Co x 3
= 7300000

tonN-2 : Current Asdets
fixed Asser _ 13
current fsger "

600,000 . 13
Corrent Assed 1}
current Asset - 600000,
Iy
2 Q206,000
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(WN-3: COCrs | LOOHKS COs+t:

sa1e9 Ico 200,000

COCrs [works Cost €5 ? 6630000

CoN-y) Ner Proflt . TROO000 X %, 2 614000

WN-8) : Raww marerta) :

6630,000 X 07, = 1336000

(toN-6): Drrect+ wOges : 30,000 K104 663000

(DN-T* St3ck Of R @ 136000 x_% - 331800
1
Con-8) - 310cKk OF Fep: 630,00X 6Y = I Q70O
(LopM=0) * Debtord:  7TROC000x 0 . 12,832,192 .
36S
L@N-10) t Carrent l1'abr'trdres:
current Asieys 2
curreas Lrobriities I
2200000 . 2
current nobilrtres
s current robrlitrey = 200000 1100,000 |
2
tonN~n : long term 1oang
Long ferm loans .2
Carrent Lrabilrtres ‘
Long ferm 1oan s 2
1 160,000
Long teem 10N> 2 X 1100,006 = 200,000
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(@M~ 3hare COprbay and  Resdervey & sUrprus:
Fixed HRiseps R 600,000
current Addeds < 0C, 00
Toray  Asetrs 4 00,000
long term loan (00,000 )
current Lrabriyyes (1100,000)
caprow ¥ Reserve 500,000
L
v (<) L
r I't Reserves & Surplus
300,000 100,000
Tead! g & P&l Account
. Partrcarors \S Partrcarocs ¢ |
_To Drrect materia) (Wn-5) | 1326600, BY 3ales (wn-1 1800000
To DIfect wages  (ON-6) | 663000
T WOk 0 & 4641000
T Gross Proft erd(wn-3) | 176,000 ]
7800000 T00,000
| | : _ | |
7o OperaMing Expenses 5460001 by Grtoss Proht brd 170,000
' To Ner Profr  (wnN-4) 64000 | |
170,000 1190,000
Barance sheed
Equity % Mabrlites ¢ Ri3els < |
$hgre copriay 300,000 | Fixed Asses 600,000 |
Reserves & 3urplos 1300,000
carrent Aised
hong term 16an3 WOO,000 10K OF RM 331800
| Stock OF FG 397800
- cyrrent Irabrlifres 106,000 | pebrors 1432/93 |
cosh 188508 ) 200,000
& 200000 YR0O,000 |
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| Question 9. ( PP4)
| Ganpati Limited has furnished the following ratios and information relating to the year ended |
r 31st March, 2023:

| |Sales ¥60,00,000
| |Return on net worth 25%

Rate of income tax 50%
| |Share capital to reserves i
- [Current ratio 2
| |Net profit to sales 6.25%

Inventory turnover (based on cost of goods sold) 12
'|Cost of goods sold % 18,00,000
| | Interest on debentures 360,000
| | Receivables % 2,00,000
| [Payables % 2,00,000

| You are required to:
M (a) CALCULATE the operating expenses for the year ended 31st March, 2023.
| (b) PREPARE a Balance Sheet as on 31st March, 2023 in the following format:

Balance Sheet as on 31st March, 2023

Liabilities X Assets 2
Share Capital Fixed Assets
Reserve and Surplus Current Assets
15% Debentures Stock
Payables Receivables
Cash
| Solution:

(toN- 4)Net Profit = 6000000 x 6-3S7s = 37SC00

| GoN- ) Net worth -

Returnon  _ Ner Profrt X100
net toort Net worth
LA [S M XIloo
Net worth
Nef waorth = 33&@ xloo = 500,000
9y

(WN-3).3hare Caprral and Reserves & 3urprus

share Caprral 7 ? 1080000
Reserves 3urprus 3 ¢ §SOOCO
Nep worth 16 500000
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L (LWON-Y) = 3toCK

Inventory - ogs
Turnover faho $fock
12 o 100,000
sfocke
stoce = _R0O00O | 150,000
E

| o N-6): Debenture :
Debenrure X187, = Inferes+
Debentrure X187, = 66,000

pepenture = ©0,0380 _ 40000
(KA

(ton=g) = Cuerent fisgeps:
corrent Asied . 2
current LrabinNes (Current Urabrirtes
currnt Assep | 2 means Payabres)
60000

7. CUrrent Asse) = X¥00000 = 460,000

q

ey = Fixed fHidef:

dhare Caprtay 10SB000
Reserves 2 30rplws 480,000
17 Debenture 400,000
Pay aples 00000
QAO000
Current Assets (460,000)
1760000
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o) Operating Expenses:

Partrenrors W
dales 6000000
- (o Cr4 ('?OQ%O)
Gross Profi# g‘@%
- Operat'ng Bxpense 3390000
N
EBIT 16003
- Interest (éc,000)
ERT oo P 786006
~ Tax so 7 375000
ERT <o 375000
b) Balance Sheet as on 31st March, 2023
Liabilities 2 Assets 3
Share Capital 10S0,000 |Fixed Assets 1700006
Reserve and Surplus 40006 | Current Assets
15% Debentures 400,000 Stock 120,000
Payables 200,006 | Receivables 06,000
g Cash @m I 4 OO, o006
U 060,000 210,000
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Question 2. (Illustration 2)

Following is the abridged Balance Sheet

Following is the abridged Balance Sheet of Alpha Ltd.:

Particulars b Assets 3 3
Share Capital 1,00,000 [ Land and Buildings 80,000
Profit and Loss Account 17,000 | Plant and Machineries 50,000
Current Liabilities 40,000 | Less: Depreciation 15,000 35,000
1,15,000
Stock 21,000
Receivables 20,000
Bank 1,000 42,000
Total 1,57,000 [ Total 1,57,000

With the help of the additional information furnished below, you are required to PREPARE Trading

and Profit & Loss Account and Balance Sheet as at 31 st March, 2023:

(i)  The company went in for re-organisation of capital structure, with share capital remaining
the same as follows:

Share capital 50%
Other Shareholders’ funds 15%
5% Debentures 10%
Current Liabilities 25%

Debentures were issued on 1st April, interest being paid annually on 31st March.
(i)  Land and Buildings remained unchanged. Additional plant and machinery has been bought
and a further ¥ 5,000 depreciation was written off.
(The total fixed assets then constituted 60% of total fixed and current assets.)
Working capital ratio was 8 : 5.

(iii)

(iv) Quick assets ratio was 1 : 1.

(v)  The receivables (four-fifth of the quick assets) to sales ratio revealed a credit period of 2
months. There were no cash sales.

(vi) Return on net worth was 10%.

(vii) Gross profit was at the rate of 15% of selling price.

(viii) Stock turnover was eight times for the year.
Ignore Taxation.

Solution:
=) . T rabilrs+)es «
Partrearlars Y Vs

ihave Capria) Y] 100,000
other 3narholders Funds 1S P 30,000
57. bebenture Io ? 20,000
Current Liobr[rires ) ! SBOoS

00 p 00000

Toro)  Lrobyirtreds
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ON-R) : Tortew FAsded:
Totcd Lrabrirhred = Tortad Assel= 300,000
L

& A |
F”K‘Qd Assesr (607) carrent A3der(yoy) |
RG.000 gO.000
& - 3
Land &« Bw'ding Plant & machrnery
80,000 40,0006 (130,000 ~2OLO0)

N3 Plapt & moc)nrnprc/;-

Gross Amount 60,000 T
) Deprecyation (15000 +8000) (6000 )
Ner Amount 45,000 ‘

(eonN-y)- StoCk :
Awer . Corrent Asser - dfok

Rat+ro corrent LobrIrtRs
1 a 80,0006 ~ S13CR
86,000
560co = Ro0co - Stock.

Sfocr

”

Lwon-9 - Recervyobres
(current @ssesr -spocre) x 9

¢
. (2000-3%6000) x 4
s
= (I0,000 .
DN~6)". 30103 -
credit sales x Credrt perrod . Recervobles
1Q
Credrt $01es x "‘Q . %0000
tred!~ sQres = _YO000 XIQ ~ R40000.
2
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L (WN=T) : Ner+ Profirt :

$hare copriad 100,000
other dhareholders Funds 30,000
Ned oortn 130,000
X106y
Nep Profy 13600

(LON-8) * (reods Prof1t % (OCrs:

3Qres 100 VY 6,000
- &ross  ProfFry 16 ? 36000
O s $5 7 Yoyooo
Trading and f£&L Account
Partrcarary ¢ Partrcarors <
- To oo XOLO0C | By 3ales 40,000
T Gross Profrt 36000
| {40,000 Y40,000
7o bebenture Inferest| 1000 By Grross Profit 36000
(0,000 % 57 X '%/12)
~ To Opergting expenses
- T Ney Profit 13060 |
360060 36600

alance Sheel

Eowity & Lrobrirtres v R3dets 8
Share Caprtoy 100000 | Hxed Asies |
other shoreholders funds| 30000 | 1gnd & Bw'!dr'ng 0,000 |
Plant & moddrnery 60000
5r. Debenture 0000 | M Depreciatron  (600) Yo,000
current Wobriryes SGO0S
current Addes:
$tock 30,000
Debfors 40,000 |
| cash (6,000 | 80006
00,000 00,000
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From the following information and ratios, PREPARE the

Question 15. ( PP10)
From the following information and ratios, PREPARE the Balance sheet as at 31st March, 2023
and Lncome Statement for the year ended on that date for M/s Ganguly & Co -

Average Stock %10 Lakh
Current Ratio 3:1
Acid Test Ratio i |
PBIT to PBT 2251
Average Collection period (Assume 360 days in a year) 30 days
Stock Turnover Ratio (Use sales as turnover) 5 times
Fixed assets turnover ratio 0.8 times
Working Capital %10 Lakh
Net profit Ratio 10%
Gross profit Ratio 40%
Operating expenses (excluding interest) % 9 lakh
Long term loan interest 12%
Tax Nil
Solution:

N : Current Asser & Lrabrritres:

current Qssed i 7 1200000
-current Lrobrir+ies | T seo000
WO HING caprtay 2 1600000
LN : dtock:

Acrd Tes+ _  Culvent asser ~ J+ode
RaN© corrent Uobrirtres

, . 1 500,000 - $+ouUk

550,000
500,000 = 18060,000 - 3tOwk

.1 otk = 1SO0,000 ~ SOO,000 = 106,000,000

N~3): ! .
dtoce TUrnover . Jares
5 . 3Q 104
16,00,000

-, Sales = '0,00,000 X5 = £0,00.000 |

>
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L (N-4): Frxed Adier:
Fixed R3sed  _ sales
Turnover Roho ] Fixed R33es
0.2 . _BOCOO0
Fixed Assel
< Frxed Asief= SO00000 . p120.000 .
0:8

(WN-6): Ney ProFrt:  BBOO000 Xtor = SOOLO0

(DN-6)"Gross Profi+ and  (OCrs:

sales 100 BoCocoo
~ Gross Profit Yo 1 00000

CoOCrs 60 ? 3000000

(WN-7) : DebtOrs

cred/+ o credit Period

fares 360
~ fopomoo x— 30

360

= 416,667

4. TIocome J3dtntement:

Particalars N
3ales 5500000
- Colrs (36,00000)
Gross 2rofit 000,000
-_operatrng Expenses  (8,00000)
PBIT 1tOO, 000
- Interest QOO
PRT 500000

(won-8): Long term toon
loon x 1a% = Inferedt

Loon = 68030 . §5,00,000
IdYe
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N
. Barance 3heet
Eqwhy & Labrirtres ¢ A33ers £
' Ly
share Caprtoy (R450000) Fixed Rssers 6950000
kong ferm loans 5O,000c0| current Bsiets
3P0k 10,060,000
current Lobriitres 5CO000 | DebrOF L1666Y
tash | 1500000
7756,000 | 7750,000




Proptrerory  Ner shate caprray _[Tora) Pssed & TRP Sir
Funas - worth = Rd(_q% - 767‘03Crdb CA Rahul Panchal

Following information has been provided

| Question 11. ( PPé)
| Following information has been provided from the books of Laxmi Pvt. Ltd. for the year ending |
-on 31st March, 2023:

Net Working Capital % 4,80,000
Bank overdraft 380,000
Fixed Assets to Proprietary ratio 0.5
Reserves and Surplus ¥ 3,20,000
Current ratio 2.5

Liquid ratio (Quick Ratio) 1.5

| You are required to PREPARE a summarised Balance Sheet as at 31 st March, 2023 assuming that |
—there is no long term debt.

: Solution:
LN - Cotrent Rsiers & Lrobrlrtres:
current Asser oS T B0000
- Current Liabrlntres ! 7 30000
worng 9 pric e 420000
QLucke. - Curtrent Adder - dfodk
koo Current Liobr'n'tres
,05 ) QOOwa - 3+OCK’
30,000

le§ X 320,000 = 80OC,000 - $tOWR
o 5totk = 30,000 -

nN-3) :Propreytrory fynds
fIxed FAsie+ _ 08
Proprretory Fungs
2 Frxed RAs3eps = 0.76 X ?roprre,forg fonds .

Proprrejory . Frred o Carrend _ current  _ Long ferm

fund A3 ey Aé3e) Labrlftres  Liabriftres
Pr = GT75PF + Q00000 - 3,000 ~ NIL
OdS PF = 480000

P ¥ = 1320,000
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(N~ : dhare  Qapreal :
Proprrerary  Funds 1920006
~ Reserves # surplus (30,000)
1600,0C0

toN-=5) : Frxed HAs4€3

Frred HRsieps = 0.76 X ?rcprre,forq fonds .
0+7S X 180,000
1440,000 .

v

n

Ralance 3heet

Equity & Crabrirses a A3 ey T
share COpricy 60000 | Fixed Rs3er 14 40,000
Reserves & surplus 30000
. urrent Asses
Ccurrent LrobrliNes LXeY9 ¢ 330,000
' Bonk ord 20,000 other Curreni Asset (486000) 800000
credrrors (R40000) | 310,000
2240,000 [2240,000 |
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Using the following information

| Using the following information, PREPARE the balance sheet:

Long-term debt to net worth 0.5
| Total asset turnover 2.5
| |Average collection period*X 18 days
Inventory turnover 9
' | Gross profit margin 10%
' [Acid-test ratio 1
| *Assume a 360-day year and all sales on credit.
. £ X
| |Cash ? Notes and payables 1,00,000
Accounts receivable ? Long-term debt ?
' Inventory ? Common stock 1,00,000
' [Plant and equipment ? Retained earnings 1,00,000
- [ Total assets ? Total liabilities and equity ?
Solution:
Balance 3heet
hssets ¢ Eqwty & Lrabr!itres £
Cosh SC.0Co | Notes & Payables 100,008
fccount reces\coble SO0 | kong term deb+ 100000
Invyentory M Common 3toK 160,000
_Plant & Equwprent 00000 ¢ Reborned EorNIng 166,000
400000 400,000

L CLON-D * bt :
Capitas + Rerouned Eoming
100,0C0 + 160,000

{OS,000

»

o) Netr worth =

»

b) Aong ferm debt _

0.5

Nes worth

long term debt

0000

= GCe¢eb

<. Long term debk = 05 X00,000 = 100,000 ,
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L (ON-2): $0les:

@ Tofow Irobllftres = Tora) Asders = 400,000

b Tota hsded - 3Qles
Turnover Ratro Totro) As3es
LIS - 3a1es
Yoo,000

50105 = .S XH400,000 = 0,000,000 .

DN~ : (Gross Profrt % COG A’

sales 'c0 lo00000
- Gtoss Proht > 7 100000
CoGr 3 96 7 Qoofoo

(ON~4) ' Debtprs / ACCOUDE recel vable
credic x Credit Perred

dares 360
= 1600000 % 18
360
= §0.000 .

(N-6) InYentory :

TInventory - Cotrs
Turocvetr Ratro Inventory
9 - 900,000
Inventory
g lnveﬂfon, = 300000 . 160,000
9

(ON-6): cash:

. ACyd- Test -~ Current Assel - 3tock Current A3sel 00000 |

Ratrs cucrent  Lablirtred ~ $rOLL (100000 ) |

[ . Current Asser - 100000 < Afe fecervaple (S05,000) |

| 100,000 cash S6,000
o Current fissel = 200.000
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Gig Ltd. has furnished the following information

| Question 13. ( PP8) '
| Gig Ltd. has furnished the following information relating to the year ended 31st March, 2022 and |
| 31st March, 2023:

31st March, 2022 | 31st March, 2023
R) R)
| Share Capital 40,00,000 40,00,000
' | Reserve and Surplus 20,00,000 25,00,000
| Long term loan 30,00,000 30,00,000
. Net profit ratio: 8%
K Gross profit ratio: 20%
[e Long-term loan has been used to finance 40% of the fixed assets.
Le Stock turnover with respect to cost of goods sold is 4.
| Debtors represent 90 days sales.
. The company holds cash equivalent to 1% months cost of goods sold.
e Ignore taxation and assume 360 days in a year.

| You are required to PREPARE Balance Sheet as on 31st March, 2023 in the following format:

| [Liabilities (%) [Assets ()
Share Capital - | Fixed Assets =
Reserve and Surplus - [Sundry Debtors =
Long-term loan - [Closing Stock =
Sundry Creditors - |Cash in hand =

Solution:

Bajance dheet

| Eouty & Lrobilitres ¢ Rs3 et <
| Share Capriay 40,00,000, FXed Rssesd 500,000
Reserves & Jurpius RS00000| sundry Debrors 1564 SO0
LONQ term 100N 3000008 | ¢1psing 3tock 19 86,000
Jun?jrg credriors 1437800) Cash ir? hangd 63 SO03
1093500 10937500
L oN) - COCrs
Reserves % surplus
@ 0% oNn  31-3-33 YS00-000
B A% 6N 3)-3-22 20,00,000
Ner Prafrs () 600,000
+« Net Profrt ¥, = 8%
3ares 100 6¥ S0000
— Gross Profrt 0 T 1286,000
oCcrs g8 7 50,00000
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e A
(wN~) - J+0cLk:
jtoce Turnover . _ (OGs
Rano 31ock
. _5O08O00
5tock
codtote = 5000,000 a [2S0.000
Y
(tON-3) : Debrors:
6480000 x 9° . 1869800 .
360
N-4): CAsh-
500000 X _1:6 =~ 6SO00
']
WN-K) . Fixed HAsse}f:
loon 4+ Own . FIxed
fund Funds fsset
J*PO + 60 IS [®0
so,oo,OM () 7806000
\_ J
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Question 6. (Illustration 6)
Following information are available for Navya Ltd. along with various ratios relevant to the
particular industry it belongs to. APPRAISE your comments on strength and weakness of Navya
Ltd. comparing its ratios with the given industry norms.

Following information are available for Navya Ltd

Navya Ltd.
Balance Sheet as at 31.3.2023
Liabilities () [Assets )
Equity Share Capital 48,00,000 | Fixed Assets 24,20,000
10% Debentures 9,20,000(Cash 8,80,000
Sundry Creditors 6,60,000 [Sundry debtors 11,00,000
Bills Payable 8,80,000(Stock 33,00,000
Other current Liabilities 4,40,000 =
Total 77,00,000 | Total 77,00,000
Statement of Profitability
For the year ending 31.3.2023

Particulars ®) ®)
Sales 1,10,00,000
Less: Cost of goods sold:

Material 41,80,000

Wages 26,40,000

Factory Overhead 12,98,000 81,18,000
Gross Profit 28,82,000
Less: Selling and Distribution Cost 11,00,000

Administrative Cost 12,28,000 23,28,000
Earnings before Interest and Taxes 5,54,000
Less: Interest Charges 92,000
Earning before Tax 4,62,000
Less: Taxes @ 50% 2,31,000
Net Profit (PAT) 2,31,000

Industry Norms

Ratios Norm
Current Ratio 2.5
Receivables Turnover Ratio 8.0
Inventory Turnover Ratio (based on Sales) 9.0
Total Assets Turnover Ratio 2.0
Net Profit Ratio 3.5%
Return on Total Assets (on EBIT) 7.0%
Return on Net worth (Based on Net profit) 10.5%
Total Debt/Total Assets 60.0%
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NovyQ Induitry
. Rahe formura kY] NO M4
4. current (brrent Aided BRROCOO . .6% 5
Ratro corrent Lbr I es 1980,000 CGo0d)
9. Recervaple dales 1,10,00.000 S 8
_Turnover Rato |  Debfors 11,060,000 C6ood)
8. Inventory 4ales _IO000c0 . 3.33 9
~Turnover Rako $toCk 10000 (%00)
4. Torcd R3ded 3ales 1000000 | .43 2
Turnover Rate | Tohou Rsied 7rCOC00 (8ad)
6. Retorn on _EBIT im0 559000 ¢ iop = Te19% T
totay Rs3ed Totow A3l e “1TCO000 (Goed)
7. Rerurn on L X100 —QB,OOO 00 < ‘Lfogl % 108,
Ner worth Ner worth YROC,000 (800>
t 2‘ TO'f‘QJ DebT "O —;gg ge?; K‘roo —igvm X foo -.-_,57.66/ 6070
7 4 033
ot Rsiet { RISEYy 3
Comments:

1. The position of Navya Ltd. is better than the industry norm with respect to
Current Ratio and Receivables Turnover Ratio.

2, However, the Inventory turnover ratio and Total Asset Turnover ratio is poor
comparing to industry norm indicating that company is inefficient to utilize
its inventory and assets.

3. The firm also has its net profit ratio and return on net worth ratio much
lower than the industry norm.

4.  Total debt to total assets ratio is lower that the industry standard which
suggests that the firm is less levered by debt and more by equity resulting
in less risky company.

1 | 1
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In a meeting held at Solan towards the end of\

-

Question 1. (Illustration 1)

In a meeting held at Solan towards the end of 2021-22, the Directors of HPCL Ltd. have taken a
decision to diversify. At present HPCL Ltd. sells all finished goods from its own warehouse. The
company issued debentures on 01.04.2022 and purchased fixed assets on the same day. The
purchase prices have remained stable during the concerned period. Following information is

provided to you:

INCOME STATEMENT
Particulars 20215225(%) 2022-23 ()
Cash Sales 30,000 32,000
Credit Sales 2,70,000 3,00,000 3,42,000 3,74,000
Less: Cost of goods sold 2,36,000 2,98,000
Gross profit 64,000 76,000
Less: Operating Expenses:
Warehousing 13,000 14,000
Transport 6,000 10,000
Administrative 19,000 19,000
Selling 11,000 49,000 14,000 57,000
Net Profit 15,000 19,000
BALANCE SHEET
Assets & Liabilities 2021-22 () 2022-23 R)
Fixed Assets (Net Block) - 30,000 - 40,000
Receivables 50,000 82,000
Cash at Bank 10,000 7,000
Stock 60,000 94,000
Total Current Assets (CA) 1,20,000 1,83,000
Payables 50,000 76,000
Total Current Liabilities (CL) 50,000 76,000
Working Capital (CA - CL) 70,000 1,07,000
Net Assets 1,00,000 1,47,000
Represented by:
Share Capital 75,000 75,000
Reserve and Surplus 25,000 42,000
Debentures = 30,000
1,00,000 1,47,000

You are required to CALCULATE the following ratios for the years 2021-22 and 2022-23:

(i) Gross Profit Ratio

(ii)  Operating Expenses to Sales Ratio

(iii) Operating Profit Ratio
(iv) Capital Turnover Ratio

(v)  Stock Turnover Ratio
(vi) Net Profit to Net Worth Ratio
(vii) Receivables Collection Period

Ratio relating to capital employed should be based on the capital at the end of the year. Give
the reasons for change in the ratios for 2 years. Assume opening stock of ¥ 40,000 for the year

2021-22. Ignore Taxation.




& TRP Sir

CA Rahul Panchal

Coroputatrron of Ra+ros:

Partrculars Formaula 91-32 QQ-23
4. &ross Profit Gtross PrOBT \ny | BUCOD o\ 7600 114
Ratfo 3Qlles 30000 374ceo
=1.%3% = YO .32
2. Operating expensed | OPEraNNQg €Xp eing| 49CCC i im0 BYO00 4 1m0
to 30les ratio 50 les o0 374000
= 16-33% = 164%
3. Operatrng ?roht Operating Prom\(,oc 16000 e 19000 ¢ o
Rano (E8IT) sales 300000 3749000
= B% = 5‘02./0
4. Copraod Turnover | 3ated 00000 379000
Rano toprta) Employed 100,000 4000
= 3 frmes = 4.S% Hrmes
8. dtoac Turnover | QOGS Q36000 9RCOC
Roho Ayerage stowk §o0co 77000
= 472 Hrmes = 3.8%
@N-) : Ayeroge openIng +Crosme | YO000 +60000 | 66000 + 94000
stoer o < 2
= 50,000 . = 77000 .
6. Net Proff+ 40 Net Profri X100 16000 100 19000 <100
. Ne} workhh Rane Nt Lo N 1600C0 117000
(Nektoorth= Copitpd + R &5) = 15% = 164 %
' 7-G) pebtors turnovery Credur sqles A70,000_, 5,4, 3Y000 . 4,15
Rono bebrors §0,000 V00O
b fiverage 36S 36S _ 69.59 368 . 87.53

O HeCH a0 Per,‘ocb Rorto 1 Times LYSY days 4.1 dqvg _
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The capital structure of Beta

Question 7. ( PP2)
| The capital structure of Beta Limited is as follows:

Equity share capital of ¥ 10 8,00,000] |
each
9% preference share capital 3,00,000] |
of ¥ 10 each

11,00,000] |

| _Additional information: Profit (after tax at 35 per cent) ¥ 2,70,000; Depreciation ¥ 60,000; Equity |
dividend paid 20 per cent; Market price of equity shares T 40.

| You are required to COMPUTE the following, showing the necessary workings:

| (a) Dividend yield on the equity shares

(b) Cover for the preference and equity dividends

| (c) Earnings per shares
(d) Price-earnings ratio

Solution:

(N~ INCoOMe statement

ottrcuIos ¢
PAT 270,000
~ Preference Dfvrdend (Q7000)
(300000 % %)
NP For+ E3 Y3000
- EQuity Drvrdend (160000)
CROO000XR0%)
Reboined Earning 23000
-0) _Drvrdend yreld on EQuity 3Ihgres

Dfvrdend per shore K106
fockes Price per shore

(10XQ0%) X166
40

Q—K‘ r0o

40
5%
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arox T N /@m
7K Al & & & |l oo
- D Dryrdend roverage ratro:
a) Preference Divrdend PAT
coverage rano Preference  DIvrdend
= _XT06,000
7600
= 16 H'Mes .
b) EQUu'y Drvrdend . NP for ES
coverage ratio Eqwhy Dividend
. 43000
160,000
s 1s6Q ~MNes
3) €EPs:
NP for FES 43000
+ NO OF ES$ < 80,000
(Bcyo00 +10)
500{,’
% Prrce- Earning Raho:
earning Per shore 304
Q 1%
& PP Y
& PP 11,
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From the following information, you are required

I From the following information, you are required to PREPARE a summarised Balance Sheet for |

I-Rudra Ltd. for the year ended 31st March, 2023:

| | Debt Equity Ratio 1:1 |
Current Ratio 3l
' |Acid Test Ratio 8:3| |
|| Fixed Asset Turnover (on the basis of sales) 41
|| Stock Turnover (on the basis of sales) 6
| [Cash in hand ¥ 5,00,000( |
Stock to Debtor i i
| |Sales to Net Worth 41|
| Capital to Reserve 1:211
| |Gross Profit 20% of Cost| |
. COGS to Creditor 10:1 .
| Interest for entire year is yet to be paid on Long Term loan @ 10%.
| Solution:
8alance 3heet
EQuity & Lrobrlrives S A33ers <
share Copreal } 10,00,000 fixed Asied Ly | 10,0000
Reservers ¥ Surplus ¥y <0.0000G
cyurrent+ A44ed
Lkong term loan | ¥4 [3000000  itock 2/ |30,00000
Debtor 2/s |3000000
curreny LrabrhrHes Cash 500000
credrrot (R/)2) ”i/ 9 | 100000
Intere st MM
oHhet CL 3 \QG0,000 >
73500,000 7500000
Les dQles be 2
L =D Ep (a%)
Flixed Asses jales
Turnover RaH©G Frxed As3es
b - X
Fxed AsseL
y
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N

-

(WN-2) @ 3+5eK -
Jtfock Turnovex
Ratre
6

(@N=3) : Debtors:

{ale s
stock

n
B

$tock

jfoex = X

160K +0 Debhror = )1

means dt+ock = Debtor = X
6
WnN~y): dales do Net worth:
4dale4 4
Nej worth
o . Y
Ney worth
5 Nep worth = ®
(,
(DN-6) © COCrs & P
5Q1e3 190 Q
~ (1033 Prokt o 1
COCrs 1o ®
Gro3s Profrt = WR R
20 )
cogps = loor . f®
10 6
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L (WN-¢): Credrror -

oys 10 . 5R . (redrtors
Credrtot ’ G RIC
<6_°Q> 2 bR . creditors
= # < '0 60
Creditor . credrtors s R
r
= STJQ . 10X ¢redrtors R

| (ON-7) - Current Lrobrirkes:
cutrent Qisers _
current Lrobrirtres !
3tock + Debtor + Cash 3
current Crabrijtes !

X %e + 600,000 = 3 X Curient Lrabilitres

- S, S

n

- 6
= AR 4 800000 = 3 x Current Uobriryes
6
2 2R, SOO000 . current Lriabilities
6x3 3
R e . 60G0C0 = Ccuwent Liabrlities
18 3

- %+ 500000 .~ Current Lrabilitres .
3

(DN~ - De b+ EQrestey ROND:
0eb+

Equty l
<Eqw‘rq - Nep wor+n=i>

p—

4
(Equity = Equuty 3hare Capito + R&S)
Debt = EQWty (Ne+ wort) =%
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| (WN-9) : 31es

Torta EQuIty & Lrabilities = Totcy Adsers

Equrty  Aong ferm 4 current . Frxed + Current

loan Lrabr'lrtes Addes Assel
l/ N
£+3+2+M=i+2+£+500,000
4 4 9 3 4 6 6
X
x ( Errmrnode  2/y)
x + x + 500,000 s X + 2 4+ F0O,000
4 9 3 6 6
R, 2, 500000 ., 2m + boo,000
4 9 3
g- + 2 + M a R + 500,000
4 9 3 3
X ., % __® _ 500000 -~ 500000
4 9 3 3
< { {
(xqx3) (4x3) (4x9)
R RR _ 36% _ 1500000 . 5065000
108 108 08 3 3
Y 4 - 16,0606000
108 3
Axx3 = 16,0000 X108
Q% = 16,006,000 X103
x= _1600000%108 . 1,30,00,000 .
q
N3 ¢ 3hore Capita) & Reserves :
Net worth R . 12080000 . 3000000
4 Y
$ 1) v
dhare Caprroy Reseryes % surplus
16,060,000 v0,00.000
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(WIN-r1). Inferedt:

Lrong +erm foan X 10v.
30,6000C8 X 107,
= 300,000

N
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Manan Pvt. Ltd. gives you the following

| Question 12. ( PP7)
Manan Pvt. Ltd. gives you the following information relating to the year ending 31st March,
2023:

(1) Current Ratio 2.5 71
(2) Debt-Equity Ratio 13 1.5
(3) Return on Total Assets (After Tax) 15%
(4) Total Assets Turnover Ratio 2
(5) Gross Profit Ratio 20%
(6) Stock Turnover Ratio 7
(7) Net Working Capital ¥ 13,50,000
(8) Fixed Assets ¥ 30,00,000
(9) 1,80,000 Equity Shares of ¥ 10 each
(10) 60,000, 9% Preference Shares of ¥ 10 each
(11) Opening Stock 3 11,40,000

—You are required to CALCULATE:
L (a) Quick Ratio

(b) Fixed Assets Turnover Ratio
| (c) Proprietary Ratio

(d) Earnings per Share

Solution:

(NN Corrent Adders & Liobrritres:

cerrrent Rssep S T dSO000
- Current Lrab/Irtres f 7 900000
Ner woHeing (aprtal s 1350,000
I( ) T As $:
Fired Rsseps 36,00,000
current Adsers R $6,000
89 S0,000

{on-3) : ProFrs (PAT):
Totow RS’} X 187,
= 6§450,000 X IS %
s 787800
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L (ON-4): 31es”

TorQ) As3e} . 301e3
TurnOYer Ra+0 TOo+rOW AS5e
2 = Sales

§2S0,000

2 3Qres = FASO000 x 2 = vob;oo,ooo

=) - Profrs:
fales 100 10500000
- Gross Profit V0 T 00000
OG5 &0 7 840000
(LQN_QLC_LQJ_Q_LML
a) Avergge 3+ock :
dtoce . _ ot
Turnover Rotfo Avergge 310K
7 . _ 8400000
Ryeroge stock
Average 3tock = ?*Pf;ozooo = 1300,000
b Croarng $toek
fyerage = _Opening +(ClosStng
sroer 2
200,000 o 140000 + Crosing
Q
2. C103ING $FOCK = REC,000
(N-7): Debt X% EQuty :
Totoy HAs3ets §9 50,000
- Current (rabrirtres 900,000
- Preference $hare caprta) 60000
Debt & EQutyY 370,000
& . pA
Debt Crens) Bqusty
1300000 QSG,000 .
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1L Qurce Rakro:
current Asser - SFOCK
current Juabrlries
W SG,000 - 1R60,000
900,000

lel <1

| 1. Fixed Rs4er Turnover RAto:
doles
Fixed fsses
10600,000
30,60,0C0

= 3.8 4rmes

3. Proprierary RAHMD :
0) proprrerary Funds = Equity 3250,000
Preference dhare Caprta)l 600,000

2 2S6000

b) Proprierory Rako = _Proprrerory Funds

Tota) A%4ets
3 250,000
8Y80,000
= O«FY
4. EOrm'ng Per share:
PAT 787500
- Prerence Drvrdend (§4000)
(60 XI0) X 9%,
NP For FES 7133500
« _NO OF E4 < 120000
CPs . 4.01S
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ABC Company sells plumbing fixtures on terms

Question 5. (Illustration 5)
ABC Company sells plumbing fixtures on terms of 2/10, net 30. Its financial statements over the

| last 3 years are as follows:

| Particulars 2020-21 2021-22 2022523 1
. 3 3 % |
Cash 30,000 20,000 5,000
' | Accounts receivable 2,00,000 2,60,000 2,90,000] |
' [Inventory 4,00,000 4,80,000 6,00,000] |

6,30,000 7,60,000 8,95,000] |

| | Net fixed assets 8,00,000 8,00,000 8,00,000] |
14,30,000 15,60,000 16,95,000

4 T T |

I |Accounts payable 2,30,000 3,00,000 3,80,000] |

| | Accruals 2,00,000 2,10,000 2,25,000] |

| |Bank loan (short-term) 1,00,000 1,00,000 1,40,000/ |
5,30,000 6,10,000 7,45,000

| |Long-term debt 3,00,000 3,00,000 3,00,000] |

| Common stock 1,00,000 1,00,000 1,00,000/ |

| |Retained earnings 5,00,000 5,50,000 5,50,000/ |
14,30,000 15,60,000 16,95,000

3 : ||

| |Sales 40,00,000 43,00,000 38,00,000] |

| Cost of goods sold 32,00,000 36,00,000 33,00,000] |
Net profit 3,00,000 2,00,000 1,00,000

|_Considering opening balance of Accounts Receivable and Inventory as 2,00,000 and 4,00,000 |
| respectively as on 01.04.2020, ANALYSE the company’s financial condition and performance over |

the last 3 years. Are there any problems?

Ex+rQ -

1o

L

1£ pord In 10 days

30

L

Norma) Credrt+ period s

. drscount Wi 30 days
be glven.
CR TR — IHP G
QR DTR = ACon® nNe
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Ratios 2020-21 2021-22 2022-23
Current ratio (Current Assets / 1.19 1.25 1.20
Current Liabilities) ¥ 6,30,000 [?7,60,000) (?8,95,000)
%5,30,000 36,110,000 Z7,45,000
Acid-test ratio (Quick Assets / 043 0.46 0.40
Current Liabilities) (?2,30,000) [?2,80,000) (?2,95,000)
%5,30,000 %6,10,000 7,45,000
Receivables turnover ratio 20 18.70 13.82
(Sales/ Average Receivables) (?40,00,000) (?43,00,000) (?38,00,000)
(Refer Working Notes) 32,00,000 32,30,000 2,75,000
Average collection period 18.25 19.52 26.41
(365 / Receivables turnover (365/20) (365/18.70) (365/13.82)
ratio)
Inventory  turnover ratio 8 8.18 6.11
(COGS / Average Inventory) 32,00,000 %36,00,000 333,00,000
(Refer Working Notes) %4,00,000 %4,40,000 %5,40,000
Inventory Hording 45.63 44 62 59.7y
Perrod
(3 S/ rahs I'n Trmes)
Gross profit margin (Gross 0.20 0.16 0.13
Profit / Sales) ( Z8,00,000 ) ( %7,00,000 ) ( %5,00,000 j
{Gross profit = Sales — Cost of %40,00,000 ¥43,00,000 ¥38,00,000
Goods sold}
Net profit margin (Net Profit / 0.075 0.047 0.026
Sales) ( <3,00,000 j ( 32,00,000 ) ( %1,00,000 )
340,00,000 343,00,000 ¥38,00,000
Total Asset turnover (Sales / 2.80 2.76 2.24
Total Assets) (?40,00, 000) (?43, O0,000) (?38, 00, OOO)
314,30,000 %15,60,000 16,95,000
Return on assets (Net profit/ 0.21 0.13 0.06
Total Assets) ( Z3,00,000 ] [ %2,00,000 j ( %1,00,000 )
314,30,000 %15,60,000 316,95,000
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